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QID : 601 - Adolescence is marked by development of the faculty of

Q64102 @ QQIFEY Q IR T FF FRULAIRANI

Options:

1) abstract thinking
QAR T

2) visual imagination
Q84 @aQl

3) motor development
6715Q GRSl

4) hand-eye coordination
QI3 QTG Y Q AAGL

Correct Answer: 1) abstract thinking
QAR S

Candidate Answer: 1) abstract thinking
ARy G

QID : 602 - Based on individual differences, Jung classified people into groups.

QTGS DRG! ARIAER AIRERN G 6RIR ARG q2 6Q QAIPE KE6R
Options:

1) four
QI

2) three
2

3) seven
A

4) six
22
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Correct Answer: 2) three
2e

Candidate Answer: 4) six
22

QID : 603 - According to , child development occurs in a series of stages focused
on different pleasure areas of the body.

@ 2QA6Q AN FRIF FA1Q QA FAR AR A 689G JORER 6RGS TS G 6Q 62IRINI
Options:

1) Albert Bandura
2RSS 2QQl

2) Sigmund Freud
o8 699

3) Erik Erikson
QR 9QAge

4) Jean Piaget
@Q daeae

Correct Answer: 2) Sigmund Freud
doqs 699

Candidate Answer: 4) Jean Piaget
@q daeaq

QID : 604 - is the period between age 12 to adulthood when people develop the
ability to think about abstract concepts.

666626 6AIR AIIER FARIQ QRUIASI FER TTAER 52 FAQIQ FALIG FRTSC FAT 6A6ERER
6208 1@ QMG 6JR26R 12 AF QA< Q AURAG! IP6Q g3l ATB AR 6T

Options:

1) The Sensorimotor Stage
62°QAACANTR 2SI

2) The Preoperational Stage
geaeal 2egl

3) The Concrete Operational Stage
PGS AUCAARIR A

4) The Formal Operational Stage
QSRR 2UCRARIR gl

Correct Answer: 4) The Formal Operational Stage
3a0Iae AU6QARIM ALK

Candidate Answer: 3) The Concrete Operational Stage
PGS AUCAARIR A
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QID : 605 - is the period of time between birth and age two during which an

infant's knowledge of the world is limited to his or her sensory perceptions and motor activities.

82 6 92 9F QA AGEA QI AR 6T, 699 ATAEA QR AT6Q F¢ A RIF TR
Q°6RARHTR IR B QIE Sy AR A1FTS 263

Options:

1) The Sensorimotor Stage
62°QAACANTR QG

2) The Preoperational Stage
geaeal 2egl

3) The Concrete Operational Stage
PGS 2AUCAARIR A

4) The Formal Operational Stage
9010% 2A6QARIR 2AQQ!

Correct Answer: 1) The Sensorimotor Stage
62°QAAANTR QG

Candidate Answer: 1) The Sensorimotor Stage
62°QAACANTR QG

QID : 606 - The transition between childhood and adulthood, a stressful period of life
characterised by discernible physical, mental, emotional, social and behavioural changes is
known as:

JRIERR B 6RICHIRALY BG6R AARER, KGR 1@ FBIGE AFK 26T IR IR, AINAR, AT 6
QUeLIRGC AALER AR 62IR2AN, GI2! QU6Q NI

Options:

1) Student life
219 ¥19Q

2) Adulthood
QAL

3) Adolescence
6@164IQ 1
4) Youth

ge

Correct Answer: 3) Adolescence
6RI6dIQ R

Candidate Answer: 3) Adolescence
6@164IQ 1

Latest Sarkari Jobs, Govt Exam Results,

Vacancies and updates on one click

3/71



10/8/2019

Odisha Teacher Eligibility Test

QID : 607 - Who proposed the sociocultural theory of learning?
@9 891 9IR AFIRA°YE Q IR 6QRYEN?
Options:

1) Erik Erikson
0Q 1a9e

2) Albert Bandura
2RSS 2QQl

3) Lev Vygotsky
AR 616N

4) Jean Piaget
@q Jaeaq

Correct Answer: 3) Lev Vygotsky
EAQ QIS

Candidate Answer: 3) Lev Vygotsky
MR 6QUIETNR

QID : 608 - Socially, adolescence consists in shifts from dependency to

AFIRS QA6 FEIIRALY FEG! Q a3 AR 69 6QIRANI
Options:

1) autonomy
Rl

2) slavery

Jmid

3) subservience
QAR

4) indifference
LN

Correct Answer: 1) autonomy
U

Candidate Answer: 4) indifference
AL

QID : 609 - suggested that parents, caregivers, peers and the culture at large

were responsible for developing higher order functions.

Q2Ie 69926R 64, AIGITEI, 6291 AQel 913, AR 6 6 A6R A°YE AT 26 I

q6q Aede aGel AR QIF 263!
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Options:

1) Erik Erikson
N(AERae

2) Albert Bandura
ARG QQA

3) Lev Vygotsky
6RE 6N

4) Jean Piaget
@Q JdeIeag

Correct Answer: 3) Lev Vygotsky
6MQ 6QIESIG

Candidate Answer: 3) Lev Vygotsky
AR 6QUIEAN

QID : 610 - The Government of India, in the National Youth Policy, defines adolescents as
years.

QUG AARIQ AL Y@ A1G6Q F68IQ ARG Qd Qaeq af@IBe aGaINI
Options:

1) 10 to 24
10924
2) 1310 19
13919
3) 13 t0 23
13923
4)121to0 16
12916

Correct Answer: 2) 13to 19
1319

Candidate Answer: 2) 13 to 19
13Q19

QID : 611 - are those that occur automatically and reflexively, such as pulling
your hand back from a hot stove or jerking your leg when the doctor taps on your knee.

Q12! 62IR2N, LIZIF FIFG QUCA 8 YEIR QUER 62IRAN, L2l HF LY AN
63R Q G181 A& Al QIBQ AT AQER SHIT FA AALER Y AP ARMIG |
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Options:

1) Operant behaviours
dEIee Q1L

2) Respondent behaviours
YETAUENR IRRIR

3) Imitations

aam

4) Observations

AN

Correct Answer: 2) Respondent behaviours
YOFAUSNR LRIR

Candidate Answer: 3) Imitations
aam

QID : 612 - Asking a student to run around the school playground for coming late to school is an
example of

@641 813 YA 60 IRT 6Q 2RI 64Ig IR Q 63IR AB FIRAITER 6T1GR AIR RIS Q

@ QQILE! 26T

Options:

1) negative punishment
aRAND @&

2) positive punishment
@I @&

3) negative reinforcement
@A 6dIFE

4) positive reinforcement
AR 621Vl

Correct Answer: 2) positive punishment
AN @&

Candidate Answer: 4) positive reinforcement
d@IQ9e 61

QID : 613 - is based on the assumption that all learning occurs through
interactions with the environment.

& IR RAEQ ARIFG 69 AL TV AINQS RALAR FIYFER 6QIR2N
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Options:

1) Behaviourism
2o

2) Constructivism
QAR

3) Cognitivism
6RRISBRIQ

4) Humanism
A9

Correct Answer: 1) Behaviourism
IO

Candidate Answer: 1) Behaviourism
2o

QID : 614 - Unexpected academic under-achievement, or achievement which is maintained only
by unusually high levels of effort and support given a student’s age, schooling, and level of
intelligence are called:

QUNE 2200 AYMITC SRl AY AINE AR 6297 TIGR QAY, YM 61 622 AT B RFIG AR 69
AR QUER AP IRER Y6SF 6 ANIAR FIR IRIA AYRIQ QIR

Options:

1) Neural discomfort
Qg AQRIL ARl

2) Subject failure
TR FTRQ!

3) Systemic failure
IR FIR!

4) Learning disabilities
&gl 2780l

Correct Answer: 4) Learning disabilities
Ja1 206!

Candidate Answer: 4) Learning disabilities
dal aaqeiel

QID : 615 - A disorder which is usually characterized by a significant discrepancy between higher
verbal skills and weaker motor, visual-spatial and social skills:

@ G190 YI2I@ ARINEES A 6719w 6T19R 3 GaR 67169, QEY-AIAR 8 AN 6AlER Fo6q 1@ A2QY
020l Q G689Q
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Options:

1) Attention-deficit/hyperactivity disorder

IR QIR / ARAS! FRIQ

2) Non-Verbal Learning Disabilities

a9l 98 JYQl6Q AV

3) Central Auditory Processing Disorder (CAPD)
62914 §94 6916Q3° S (CAPD)

4) Language Processing Disorder

QY JTAURAE SRR

Correct Answer: 2) Non-Verbal Learning Disabilities
A0 QE JYIER AV

Candidate Answer: 3) Central Auditory Processing Disorder (CAPD)
62914 §94 6916Q3° S (CAPD)

QID : 616 - According to Bandura's research, which one is NOT a factor that increases the
likelihood that a behaviour will be imitated?

QAR AGANIR AUGAIER, RIFTIAR AN FAUDRIQ AAR AR IR FYER FAARYR! FRIQ 6QRE 4@
Q0@ g6?

Options:

1) When you have been rewarded for imitating the behaviour in the past
66066 2dEly URNGERA QLI Q Fam G?@&IQI R Jode @ULInem

2) When we lack confidence in our own knowledge or abilities

6U606Q6R 27 AR QP6Q IR &Yl AFG! 6Q ZIARYIA Q AR 62RYR

3) People who admire us or who are subordinate to us in social status

699 6AIR F1I6R 2FIQ JA°F QIR F¢) 699 AI6R AFIFR FF6Q 2R 2AY l6R
4) When the situation is confusing, ambiguous, or unfamiliar

60606965 G0 QIAR, 2T Al AARFS 62IRYR

Correct Answer: 3) People who admire us or who are subordinate to us in social status
699 6RIR FI6R AR A°SI AR Al 69Q A6 AIFIFD FF6R 2R 2D 26

Candidate Answer: 3) People who admire us or who are subordinate to us in social status
699 6RIR FI6R AR A°EI FQER Al 69Q AIER AIFIFD FF6R 2R 2D 26

QID : 617 - A child watches his mother folding the laundry. He later picks up some clothing and
imitates folding the clothes. This is an example of

601 Rl FeQ FII'g UG AUGEIRIR 6AYAI| BT AFNEA 62 FF FUGI § RE0R AFIQ FIR KR! 2
Q IR QQILQ4 26T
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Options:

1) discovery learning
AGARIR @50 S

2) intuitive learning

Q26 K1 98 Ja

3) observational learning
VYD S

4) classical conditioning
QAQIM &

Correct Answer: 3) observational learning
FIVEYD S

Candidate Answer: 3) observational learning
VYD S

QID : 618 - Who proposed the theory of Trial and Error Learning?

SNR 6 9eQ JIQ AR Q YL &1 6QRYEM?
Options:

1) Alfred Bandura
2IMETe Q@9

2) Jean Piaget
@Q daleae

3) B. F. Skinner
Q. . QR

4) E. L. Thorndike
Q. M. 62I086a

Correct Answer: 4) E. L. Thorndike
Q. IR, 621086@

Candidate Answer: 4) E. L. Thorndike
Q. M. 62I0d6a

QID : 619 - indicates that in any situation of learning, people are actively engaged
in making sense of the situation — the frame, objects, relationships — drawing on their history of

similar situations and on available cultural resources.

Q°6@0 69R2IN 64, FVNQ 6@161T 71 FG6Q - 67, @Z, AR - AR VTG FFR6R Fe
G2 AUEA AR ARFE 6 QANE ALY AR AAER 6AIR 167 A9 QUER TF 6Q QNG QORI

QAYRIER TS|
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Options:

1) Learning as construction
e gaea dal

2) Learning as meaning making
28 eRIRel Qa6a Sl

3) Rote learning

QoQl a3l

4) Formative assessment
QERIAR FAIIFQ

Correct Answer: 2) Learning as meaning making
28 AQIRel Qa6a Sl

Candidate Answer: 4) Formative assessment
QERIR (MR

QID : 620 - According to which approach "the role of the learner is conceived as one of building
and transforming knowledge"?

672 Q8618 A9A6R "FRILITA QAR @ HFIE 6 RIF @ ARIRR FIQ 691G QO FFLER FFG
QAULAIRYRI"?

Options:

1) Humanist
AR

2) Cognitivist
AUAGIQ1

3) Behaviourist
LRI

4) Constructivist
QARG

Correct Answer: 4) Constructivist
QARG

Candidate Answer: 1) Humanist
AlRQQNLT

QID : 621 - Who popularized the project method of teaching?

@ SIQ1 Q 691699 S @ 6RIRTN @6aR26M?
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Options:

1) William Kilpatrick
QANAN FRAYTR

2) John Dewey

°q G6g

3) Dillenbourg
G6Raaq

4) De Vries and Slavi
@ 999 6 Q@

Correct Answer: 1) William Kilpatrick
ARG FRAUTR

Candidate Answer: 1) William Kilpatrick
QANAN FRAYTR

QID : 622 - is a list of planned learning experiences offered to the students
under the direction of the school.

M @ FERIR 6@ BIQ AIRG FAYIRYS! CAIFFINE TV 2AGRIR IR o1 26672
Options:

1) Learning objective
SR QELEN

2) Learning outcome
2IGE AQEIET

3) Curriculum
Q041

4) Syllabus

AIoYGS!

Correct Answer: 3) Curriculum
Q041

Candidate Answer: 3) Curriculum
Q041

QID : 623 - An is designed to determine a student's potential for success in a certain
area to help them determine which types of career they might be best suited for.

@ @ 4@ G8l0 690 60 ATRAI IR NP TG A VG § AFIAS FAREA ALY FAR AIR
OFIR% AR, Il IR 2 FFEG FRAUUIRARR 64 629 JAAQ MIGAQ AQ0IQ AAYS 6RAAIER
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Options:

1) achievement test
QANE a1

2) aptitude test
QLI AL

3) intelligence test
9FAGIQ A

4) auditory test
Q8 gl

Correct Answer: 2) aptitude test
QLI QI

Candidate Answer: 3) intelligence test
9FAGIQ A

QID : 624 - In which one of these approaches, students receive information transmitted from
teachers or other sources of information and memorise them?

A6a QUARYQI FRIQ 694 QTR 8IS €168 FAR Gl AR 6718 OIQ AOITIRYS! gerl 969 919
Q2T 6 6QAFF 168 QY2IB?

Options:

1) Teacher-centred approach
9@ 6250 QE6RI4

2) Learner-centred approach
Ja1el 6250 9R6RI8

3) Subject-centred approach
Qg 646 Q3618

4) Learning-centred approach
S 6250 QTERIS

Correct Answer: 1) Teacher-centred approach
9 6050 Q8614

Candidate Answer: 3) Subject-centred approach
Qg 6950 9E6RIE

QID : 625 - In which one of these approaches, students learn through experiences and reflection
on learning tasks make meaning and construct knowledge ,thereby gaining conceptual clarity?

FIRYS FRIQ 699 QAR FIQ 661G, BIG 7168 YRl AIKY ERa A9ee 3 gEaY ARINER JgeIRIE; 2
QITIQ KRG 8 K Gl @Q2UIE, LTI AV 1Y 621R2IN ?
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Options:

1) Teacher-centred approach
S99 6056 QI6all

2) Learner-centred approach
daieh 6250 Q86Id

3) Subject-centred approach
Qg 60459 QT6Rldl

4) Learning-centred approach
Y 6R5S QTERIS

Correct Answer: 2) Learner-centred approach
daieh 6250 Q86Id

Candidate Answer: 3) Subject-centred approach
Qg 60459 QE6aldl

QID : 626 - is a democratic method involving student participation to consider
various facts about the topic under consideration, which stimulates students' thinking process to
analyse and present their ideas and facts clearly and fluently.

4R 6RIRGIAR QI 26T 6URLER FoIRNE FUa FUN6R G GaY AR FoIQ RAS!
dIQ 818 FIREA QLA AFR 26T, AILIF 818 AlIeea §0Ia il @ G69.948 @aal 8 fIea Jola 6 Ga
J59 99 6 9N AR Jade 20 Al RS @RI

Options:

1) Demonstration
godie

2) Group Discussion
Q)L 6Q AICRSR

3) Seminar

60

4) Lecture

QIS

Correct Answer: 2) Group Discussion
A2 69 MR

Candidate Answer: 3) Seminar
6Q0QIQ

QID : 627 - is a student-centred method of teaching involving spontaneous
acting of roles in the context of clearly defined social situation(s) by two or more persons for
subsequent discussions by the whole class.

Qe AIF6A ACRGF AR §R Y INRYS MR TR AT QUIER AT AR §F
A0RER PARI PRq AaR AITINIQAN AEE ATR el TV Q 9@ BIQ 60F QI AT
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Options:

1) Symposium

FOIQ 69191

2) Seminar

6Q8RIQ

3) Role Play

QAR 64,

4) Group Discussion
Q)L 6Q ISR

Correct Answer: 3) Role Play
QAR 64,

Candidate Answer: 4) Group Discussion
Qr]R 6Q 2RISR

QID : 628 - In a/an curriculum, learner is placed in the natural setting of the community.
g AIOIFS 6Q TS B AR Q YIYER 6AG° 6Q QSlIQIRN|
Options:

1) competence-based curriculum
QB 2RNAS AIOIFE!

2) experience-based curriculum
AQQQ RIAG AI0YGE!

3) subject-oriented curriculum
QUG ARIAS AI0IGE

4) learner-centred curriculum
diglel 6aGe Qloige

Correct Answer: 2) experience-based curriculum
AQEQ RIAG I0YGS!

Candidate Answer: 1) competence-based curriculum
AABI 2ARNAS IS

QID : 629 - When a teacher constantly makes decisions about teaching materials and methods,
based on a number of factors which include the subject matter to be covered, the needs of the
students and the overall goals to be achieved, the teacher performs a role as a/an:

Q99 @g q TR AT &I ACKR FIAR YPR 2RJIAER 6IERERER 68l SiFe JFE AIAGT G G VL6
QIS AUWQ Fda H2Z, 6069 BB AIRTA AR 3 AR FARIQ A ATY AV AN FIR K64
Q196 QAR Qa8 @R2IZ
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Options:

1) Motivator

690R

2) Instructional Expert
AUQEQSAR FEAIR

3) Facilitator

g

4) Manager

gl

Correct Answer: 2) Instructional Expert
AQEQSNR F6AIR

Candidate Answer: 3) Facilitator
geuIa

QID : 630 - mode of learning is activity based, where the learner learns as a
result of action process.

JYQl @ QR QY ARG 26T, 620161 TRl Q1B ADIGFTAR ARSIA QD Sgtel|

Options:

1) Enactive

aaq Gdle ageie
2) Iconic
2RRGR

3) Symbolic
ACFGR

4) Interactive
AR

Correct Answer: 1) Enactive
99 Gle ageta

Candidate Answer: 1) Enactive
Gaq Gdlg ageie

QID : 631 - 629 984G @ glafie FaUifIes AR 2e AFH1S? i) FgF eI Faadq Aad JY8 o
QU6R IF T2 i) FET 2CRIGY TV AHNER 663 2D FITF|

Options:
1) 699R i.)
2) QW ii)
)
)

3) Q@@ i) G ii)
4) 1 Q294G9PR gUfe 24 AR AR

Correct Answer: 1) 6@9@i.)
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Candidate Answer: 2) 6Q9® ii)

QID : 632 - 364 QQUlell §deQl @2l QRAIRRIG AVF & g6, GITl AIE KRR AIR FEYB FRIQ 699G IR
QA QAL AER AASES?

Options:

1) 69 1FRQIRR
2) 6QIR AR1TR

3) adyeaq&

4) JAUIERIOR!

Correct Answer: 1) 6qIQ Y94IQR

Candidate Answer: 3) Q946994

QID : 633 - QIS UGG FYD FAQI 6Q6R, NS FELISRIC QIR YA

Options:

) dG6aR’'A @ISl AN
) 6209 daq daIs

) dG6aq’a Aaie

) Q6B ANQ R

1
2
3
4

Correct Answer: 2) 6a0Q 999 deIe

Candidate Answer: 4) QJ6QI8 AAQ 328

132l @RQ 621NN
Options:

1) QSR QUI6Q

2) QUIGQI, AIFQ

3) 681, MYl

4) A6, 69169

Correct Answer: 1) RUSQ, QUI6Ql

Candidate Answer: 1) RISQ, QUI6al

QID : 635 - G6Q4I1 QU 6FEI16Q RIS AL, QG Fea6Q qaldIReN|

QID : 634 - 9g66Q3Q 8&° FIal 52l 99 62PN, 6J60696R @ R6eqdq 86° Al

Latest Sarkari Jobs, Govt Exam Results, m
202.191.140.165/otetmay19/ccgsaV /e Tele 15 1o1 = Re 8 ° ] updates on one click NzIONGM5YzA2ZjcwMj...

16/71



10/8/2019 Odisha Teacher Eligibility Test
Options:

1) QE6962R3N)

2) QRIAY

)
) —
3) ¥969R3N
4) Q64739

Correct Answer: 4) Q6449

Candidate Answer: 3) 496623

QID : 636 - AIDINIER EASR 66TC FRIGA GalNG AINIRR SRR

1) 6699 ARTEFER]
2) 6999 QO

3) 60&°

4) 3684 606RANIEFE

Correct Answer: 2) 6999 299

Candidate Answer: 2) 6599 8Q0Q

QID : 637 - 6¢19@ QUKIAR! ¢l JRdIR 6@ F6LIB FUIQ 6260Y 2LPB G627
Options:

1)
2) QIR

3) DI0YQ ARG
4) QU6QIB ANY Qe

YRR

Correct Answer: 4) QJ6QU2 A7IQ Qg

Candidate Answer: 4) QJ6QI8 AAQ 398

QID : 638 - IRAFIR IS° AR 6AYRI ALY, FEAIB AR 674 YFIQ JRIFAR ASPD 62IRAN?
Options:

1) AS-671g@ U

2) Ao ISR

3) 6€llg@ QAIAQ!

4) Q°8g 48N

Correct Answer: 2) Qe auIee
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Candidate Answer: 2) @¢c JaIIee

QID : 639 - Y9 6QIG6TIRGER F6CIB AUQ 696 AING ATR FALIRAIGL?
Options:

1) gR9Ie FIRQE

2) Q°Qg 8!

)
) —~<
3) 65199 QUAARIR 609E°
4) QUERID AT 5aa

Correct Answer: 4) QJ6QI8 AAQ g

Candidate Answer: 4) QJ6QI8 AAY FRE

QID : 640 - AYS JRUIFFER F6AIB ARIQ 62909 ATR FAARARL?

Options:

1) QAQ 69916Q FIRAGIA TULR
2) 89!
3) Ql0YQ AIIGAIQ

)

4) Ql04q 2IKeI6x !Lal
Correct Answer: 1) 2@Q 6QQ16Q {129GIQ 2JUAR

Candidate Answer: 3) dI0YQ @QI9RIQ

QID : 641 - QQQIQIQGQ oL, q&]‘i Q° 99Q dQ ﬂ@Q 69YQIq @mdid I’ G Q9N6Q 679 A ajelng

QU9 621987

Options:

1)
2)
3)
4)

euI8e 9@
QUS 98
Q1G98

ad
9a
29
AcIgeRIIe gRsRelR 9

Correct Answer: 2) 9dI2 49

Candidate Answer: 2) 9QI2 99

QID : 642 - 0Q 2@Q A2 YLD Jodl @l 2I6E! 2l

2RISR VALY Qe

QR AU AT AR
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Options:

1) 2eigd
2) QR
3) @c@d
4) G624

Correct Answer: 3) Q694

Candidate Answer: 1) 22gd

QID : 643 - 396Q 692 JRIAQ AN JRIF AAUARE G121 526 K9G | 9671 @'4 65lIga?
Options:

1)

2) 6910% QI
3) @5R QlaY

4) 9§ 9o QI

o QU

Correct Answer: 4) 94 4902 QIa4

Candidate Answer: 4) 9g 4o@ Qa4

QID : 644 - 0] G@8 FIal 428 Jadl Rag!
QIRIFIAI 6QCER Faa GIIGAIR AIE @RS AIR FVAAYER 84 AR 6AFLR VAR,
49, ARYSR ITU K9G |

Options:

1) 0R-QAQ I&8G
2) QUQ-QUQ &G
3) 0g-0% 9QG

4) QAQ-OR A8G

Correct Answer: 1) 6-QdQ 986

Candidate Answer: 4) QdQ-0@ 986

QID : 645 - 36712 606 AAC! AR ARIIFIY ULT QI AYS ?
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Correct Answer: 4) Q468 ANQ

Candidate Answer: 1) @9l

QID : 646 - @ FFIEQ YRIQ 9T QUER YATE ?

Options:

1
2
3
4

g6ag 71213

TRIQ 69120 64Q19G
AGFINQ 6712Q
6QIAIRIY A1QIS

—_— — ~— ~—

Correct Answer: 3) G&FlRIQ 6612Q

Candidate Answer: 3) Q&FRIQ 6€12Q

QID : 647 - J60% 71213 694 $I9Q AITFQ TaFl AR :

Correct Answer: 3) 4qQ

Candidate Answer: 3) 49IQ

QID : 648 - 639 QAMIY AR 19746Q 6QITIRIE AIFF RIFIAI0 JAAIQ FAIRAR ?

Correct Answer: 2) <G 79I

Candidate Answer: 3) do@l

QID : 649 - ARIAATG 6QQ1E ARG IRIERF JA/Q Y6AG FI2EF GIFA 67Q AARUIA AU FALIRAR:
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Options:

1) QUIEREIEQ AN
2) 2I1RIQ AFLAIAY
3) QIR SRL

4) Q1R6de

Correct Answer: 4) QIa6de

Candidate Answer: 3) Q1919 389

QID : 650 - TR1Q 691129 6ARITFT @ “GFEIR 6910 ” e 69R6M ?
Options:

1) @AUGI QIR

2) GQQ. 66. Q. gNER
3) 0QQ. AIRIA
)

4) QRIIKIE QUL
Correct Answer: 2) @QQ. 6. @. MGQ

Candidate Answer: 1) @A9QI QQRQIQ

QID : 651 - G¢J6Q JQIQ SAULIRNYQI FIQYI°ITQ UL I9° &) J496e9 Qe F2g!

AR FAAIE IFER 2RI AQR Q84 62 62AYMN| Y62 QAR G 8 6QTS 6HIN & 62IR AU AR
T25Q 990 YN AARAIFER A W6R XS 6228 64 AAECA

Q2 G T6QINT 6T9RE AIIIARIT LAAIR CAHIAIRYMI- 6Q FIRR AIFEEH; G2 FIFYER; SR FQ
6QR2EM| QAT I ATEQ AYAMI NQ° AQRMI| 6I6R 696R 64 EAYAMII 62 AJIUGI 621 62 6RYRA
6Q6R F68 QUG AERI GIE RIEQ 21 6MH 62IRgAl GO F6ER 66|

6232 QIP6Q QORI FOT 6RYMI e QISR AICE IR AR §F 6J6L66R 61 AUGER FLEIG
69IR9Ig G, 64 9F AR FIIA! ARl 64, G'A AYFIR YR IR AVILRER @ ALY | 12 A6Q QEA
MRYYA NN IG° 6TAQ 697 V6N QA 62RIQ AN 6LRAAIRYN 6 6QFMI AARAITER R AT
ARIQEQ 2T, SRl AT 6Q716R IR RSB

6J606Q6R 62 G 6R10Q1 GGAY JIT RN, 6AYRI 662 QAR TO QI 62IRG- 63ITRER GI'A QIF G
0R4ll 20666 2FR6Q 6RIQIAE 1e° 126a FIF1S it AFE 62 98 I2Ig TR 62AI6R ARe! 9 0Qd
adie JeL0q 6l 2AMUILS A6

a9 92 96QI81g 63T TO 6AYSI ILEQ QTAIR AEREN Q'€ YRI?
Options:

1) QBQI GIFQ QF 62919 FILAR

2) QORI OIF AL KGR VLR

)
) — — w
3) gBQl BIg Al AIGQIg GIFaR
4) 62 6297 SIF RATS A FIFARI

Correct Answer: 1) @94l GIFQ Q9 62719 SR

Candidate Answer: 1) Q3QI OIFQ 9 624Iq QIFARI
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QID : 652 - G¢J6Q g RQILIRZR! IQUPHTY JRg Ie° §F) 9496aa @aq f2gI

SRRIQ YARIS TIFER YR ARQ Q84 694 62RARNI Y67 FAIR AR 9T 697G 63IAI & 62IR AFANI| AR
T2TQ 25Q g AAQANILER 2 A6Q 'S 6208 61 A6

Q2 e Q6QI91E 6TRA7 AITIARIT LARIQ CQYIIAYRI- 62 SRR IFEER; J2 FIFAER; SRR A
6QRg6R| AT 216 ATEQ AN NQ° VAN 6267 636R 62 6AYANII F62 AYQUGT 621 62 6N
6Q6% G681 QA (TR QIE ARQ 2l RS 621N TO FEFR 6REMI

6207 QIGEQ TRl SOGN 6RYMI 1&° QIR AT FIREQ ARIANI| §F 6IELERER 64 AUTER Fa8IQ
69IRQIQ G, 64 9F AR I ARl 64, G'A AYIR YR IR AVIARER @ ALY | 92 A6 QEA
MRYYR SRR IG° 6TFRR 6077 FERS AR 6291 ATC 6TRAIRYA 62 6QYRI AARAIGER 2RI AQT
ARIQEQ 2T, FIMI AT 6Q716R IR AIRASB

6J606Q6R 62 G 6110Q1 GGAq JIT IRAMI, 6AYRI 66% QAR TO QI 62IRG- 63ITRER GI'A QIF 6
0R4ll 20866 2AFR6Q 6RIIRG 1e° 126a IG1S ]It AFE 62 98 I2IQ TGN 62AIER AR 9 0Qd
adis JeL0g 6l AMUILS A6

2A0RIZ6R G2 T63I181 (B2)a Fadie @Iy @8 gnI?
Options:

1) 62 QIRR QUFLER!

2) g9QI QIR OF2 HAUCR 6QRIYERI

3) 64 0@ QAL AGQI IG° EAYRIER FSIREM
4) QUCAIB AIQ ANS

Correct Answer: 3) 62 8 Q09 AGQI 18° 6RYQIER RSIRER

Candidate Answer: 3) 69 6@ Q79 9G8R Ie° 6RYRIER KSIR2ER

QID : 653 - G¢J6Q JAIF RN IQUIPITY JRg Ie° §F) 49Ea e f2gI

¢RRIQ YANIS CIFER Y9I AR Q84 694 62RAMI Y67 FAIR AR @G 697G 63IAI & 62IR AFANI| AR
B2TQ 99 YN AARAIFER Y W6R WS 628 64 RACA

Q2 e Q6QI9IE 6TRRR QITIARIT CARIQ CQYIIAYRI- 62 SRR IFEER; J2 FIFAER; SRR A
6QRg6R| AT 216 ATEQ AN NQ° AGEINI 6967 636R 62 6AYANII F62 AYUGI 621 62 6RTYRIA
6Q6%R 68 QA (TR QIE ARQ 2l RS 621N TO FEFR 6REMI

6209 QIGEQ TRl SOGN 6RYMI 18° IR AT YIREQ ARIANI| §F 6I6LERER 64 QUL Sa8IQ
69IRQIE G, 64 9F AR IR AN 64, G'A AFFIR YR IR AVIARER @ ALY | 92 A6 QB
RYYA SINARI IG° 6TAR 697 FEASF 2IQA 62Q1Q AN 6LAAIRER! 62 CAFHRI AARAIFER &R AEG
NIRRT, SN VST 627161 IR AIRSE |

6J606Q6R 62 G 6110Q1 GGAq JIT IRIAMI, 6AYRI 6624 QAR TO QI 62IRE- 63ITR6R GI'a QIF 6
OR4ll 20806 2AVR6Q 6RJIQIRG 1e° 126a QIG1S ]I AFF 62 9B I2IQ AN 62AIER AR 9 0Qd
adie 9020q 6Ll AMILC Q6!

F69I2 FRIQ 62RE “QlII” I9Q 9GIR?

Correct Answer: 2) 26l
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Candidate Answer: 2) 2Q6Ql

QID : 654 - G¢J6Q JAIF RN IQUIPHTY JRg Ie° §F) 496aa Qe f2gI

¢RRIQ SANIS CIFER Y9I AR Q84 694 62RAMII Y67 FAIR AR @8 697G 63IAI & 62IR AFANI| AR
B2TQ 99 YN AARAIFER Y W6R WS 628 64 RACA

Q2 e Q6QI9IE 6TRRR QITIARIT CARIQ CQYIIAYRI- 62 SRR IFEER; J2 FIFAER; SR A
6QRg6R| AT 210 ATEQ AN NQ° AGEINI 6967 636R 62 6AYANII F62 AYRUGI 621 62 6RTYRIA
6Q6% @68 QA TR QIE ARQ 2l RS 62IRYSI TO FEFR 6REMI

6209 QIGEQ QTR SOGN 6RYMI 1G° AICE AT LINEQ ARIANI| §F 6I6LERER 64 AUTER Sa8IQ
69IRQIg GMl, 64 9F AR FITA! ARl 64, G'A AFFIR YR IR AVIARER @ ALY | 92 A6 QEA
MRYYR SRR IG° 6TRRI 6077 FERS AR 6291 AT 6TRAIRNYA 62 6QYRI AARAIFER QI AQT
NIRRT, SNl VST 6Q716R IR AIRET |

6J606Q6R 62 G 6110Q1 GGAq JIT IRIAMI, 6AYRI 6624 QAR TO QI 62IRE- 63ITR6R GI'A QIF 6
0Réll 20806 2AVR6Q 6RJIQIRG 1e° 126a QIG1S |ig AFT 62 98 I2Ig AN 62AIER AR 9 0Qd
adie 9029q 6RYSI AILE Q6!

F64I9 FRIQ 622 IR TR ITLS 621RAS! ‘Fal 629! i AGOIQ FAR1G?

Correct Answer: 4) @

Candidate Answer: 4) gI@

QID : 655 - G¢J6Q JAIF RAILIRZR! IQYIPITY JRg Ie° §F) 496aa Qe f2gI

¢RRIQ FANIS CIFER YR AR Q84 694 62RAMI Y67 FAIR AR @8 697G 63IAI & 62IR AFANI| AR
B2TQ AR YN AAQAIFER Y W6R @S 62QF 64 RACA

Q2 e Q6QI9E 6TRRR QILIARIT LARIQ CQYIIQYMI- 62 FIAR IFEER; J2 FIFAER; SRR A
6QRE6R| AT 210 ATEQ AN NQ° ALEINI 6967 636R 6 6AYANII F62 AJUIGI 62RI1 62 6RYRIA
626 68 QUA TR QIE ARQ 2l RS 621 TO FEFR 6REMI

62G% QIGEQ QORI SOGN 6RYMI IS° IR AT YIREQ ARIANI| §F 6I6LERER 64 QUL Fa8IQ
6919219 IR, 69 9F BIFEA IIR! ARl 69, BI'A AFFIR IR LR AVIFRER @ ALY 9L A6Q QB
RYYA SINARI IS 6TAI 697 FEAT 2IQA 62Q1Q AN 6LRAAIRER 62 6AFHRI AARAIER &R AE
URIQEQ AUF, SN AGE| 6Q716R I AIRSE |

6606967 62 T 6110Q1 GGaq JIT RN, 6AYRI 66% QAR GO QI 62IRE- 63ITR6R GI'a QIF 6
OR4ll 20806 2AVR6Q 6RJIQIRG 1e° 126a QIG1S |ig AFT 62 9B I2IQ AN 62AIER AQREN 9 0Qd
adie 9029q 6RYSI AYILE Q6|

4 GQUE AREV16R F6LIB FRIQ 69Q ABE OF?
Options:

1) QOR Yo J6QIE1 REIR K68 1BQ 2J6R|

2) QGQI Q° QIE J6QIGIE CIEQ g 691G g ST 6RIRAMI
3) 49O fI@ JAGF Jem 1a° AFEG YIURI K6

4) QGQl Gl AFY AP Q° 6RYIER KTIRZERI
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Correct Answer: 3) 9a61 4@ AFGY 26 NQ° ARR gIdal /g6

Candidate Answer: 3) 9901 @@ JAGS J6R 1&° AFEG YIURI *Q6M

QID : 656 - 91PQIGIQ 2R 6TRYRI DI F19Q AP PR 9&° AQ 691X NG AR | 6HIFR 626 A
QG ARE G4 2T 6N LRIRCAERI

21661 NLIg ARAILEA QI AR, ¢ AR 699 Ne° FaR TOI A9 TRIR 6aq FITIFIER QIR FageR @&
Q91 AIQ 2R 68FFIFTA QI F6AIT A2Q 6990 F68 AT SRR

@ 66666 F60Q 62 671G FQAIYI IR 62719 629, 2IEA K64 @ ARy JILIQ Y QORI A
69411 AQVIQ 658 g1 2Tl QUCA IR ANQ YZRI IR QIR

696G6R6R @F IQ° QIF QAIER B126a QTREM 6QFIER FAR AGRS [6M ?

Options:

1
2
3
4

21998
ol
621372
6512168 A9

—_— — ~— ~—

Correct Answer: 3) 6QI1Q9s

Candidate Answer: 3) 69I1Q9®

QID : 657 - 919QIGIQ A% 6TRYRI DI F19q AP FAR 9&° AQ 691X NG| AR | 6HIFR 626 A
QA QWG QLY AT 6QIIG LAURCIER

21661 NLIQ ARAILEA QI AR, ¢ AWGE 69YR ¥e° FaR TOI A9 TRIR 6aq FITIFIER QIR FageR @i
Q91 AIQ 2R 68FFIFTA QI F6AIT A2Q 6990 F68 AT SRR

@3 66666 F6Q 62 671G FQAIYI IR 62719 629, 2IEF K64 @ AR JILIQ YA QORI A
69610 AR0IQ 699 21 ZIF QUEQ U@ AVIQ AGR AR AR

250160 @9 Y 2SS

Correct Answer: 2) 4digl

Candidate Answer: 2) digl
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QID : 658 - 919QIGIQ 2IRR 6TRYRI 2! F9q AP PR Y&° AQ 691X NG| AR | 6HIFR 626 AN
QA ORGP 2T 6QRIY LAURCAERI

2661 N2IQ ARAIFEA QI AR, ¢ AR 69YR Y9° FaR TOI A9 IR 6aq FITIFIER QIR FaejeR @R
QI9IQ AIQ 2R 68FFIATA QI F6AIT A2Q 69%0 K68 AT SRR

@3 66G66R T6Q 62MI 671G FQAIYI IR 62719 629, 2IEF K64l @ AR IR YO QORI A
696110 AQ0IQ 65F M1 IF QUER U@ UNIQ IGR 2R QIR

QARG C1UEQ EREPEREN (LIS Ql@ 6amI?
Options:

1) CIgRcI6Q
2) ALAUBREQ
3) gifIsRea
4) 99G6Q

Correct Answer: 1) €Qafi6Q

Candidate Answer: 1) qQa¢i6Q

QID : 659 - 91EQIGIQ 2R 6TRYRI 2! F19q AP PR Y&° AQ 691X NG AR | 6HIFR 626 A
QA ARE G4 2T 6RIIG LRIRCAERI

2661 N2IQ ARAILEA QI AR, ¢ AR 699 Y9° FaR TOI A9 TRIR 6aq FITIFIER QIR FaeeR @R
0I9IQ AID 2R 68FFIFTA QI F6AIT A2Q 6990 F68 AT SRR

@3 66G66R T6Q 62 6a7G FQAIYI IR 6271 629, ZIEF K64 @ AR IR YO QORI A
696110 AQOIQ 65F M1 Tl QUER U@ UNIQ TR 2R LRI

6918 9O 6918 AUIG @' YT FQR?
Options:

1) 691IQ BN IF QUEA AR

2) gdQ [IR I QU AGR

3) 2Q62ITQ SIR 2IF RUCA VLR
4) QI2Q IR I RUER AGR

Correct Answer: 3) 2962I9Q IR 29 QAEQ AGR

Candidate Answer: 4) Q2I2Q 2R ZIfl QAR AGR

QID : 660 - 91FQIGIQ 2R 6TRYRI LI F19Q AP PR 9&° AT 691X NRI PR | 6HIFR 626 A
QA ARE G4 2T 6N LRIRCAERI

21661 N2IQ ARAIFEA QI AR, ¢ AR 699 ¥9° FaR TOI A9 TRIR 6aq AITIFIER QIR FaeeR @R
QI9IQ AID 2R 68FFIFTA QI F6AIT A2Q 69%0 F68 AT SRR

@ 66G66R F60Q 62MI 671G FQAIYI IR 62719 629, ZIEF K64 @ AR IR YO QORI A
69610 AQOIQ 65F M1 T QUER U@ UNIQ GR 2R QIR

%Q(H LAIRCQR RLIQ JO1R7?
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Options:

1) 9QI 6QCI9FQ IT AL 6ARHAS

2) 99| 6T RYY AL 69RHIRE

)
) —
3) (2l 627IATR 651 AL 6ARHIRE
4) 42! 6271I9EQ §d A2 6ARHIRE

Correct Answer: 3) @l 62710%Q 691 AL 6C1RHIRG

Candidate Answer: 4) Y2l 62719 ¢d AL 6FRHIQE

QID : 661 - The sentence below has been divided into three parts. Select the part of the sentence
that has an error. If the sentence has no error, select the option 'No Error'.

The skit is prepared by / one of my students and / it is really funny and enjoyable.
Options:

1) The skit is prepared by

2) one of my students and

)
)
3) itis really funny and enjoyable.
4) No Error

Correct Answer: 4) No Error

Candidate Answer: 1) The skit is prepared by

QID : 662 - Select the word segment that substitutes (replaces) the highlighted word segment
correctly and completes the sentence meaningfully. Select the option 'no correction required' if the
sentence is correct as given.

Divit (used for love playing) football in the corridor.

Options:

1) used to love to playing

2) used to love playing

)

)
3) used to loves playing
4) No correction required

Correct Answer: 2) used to love playing

Candidate Answer: 2) used to love playing

QID : 663 - A sentence has been given in Active/Passive voice. Out of the four alternatives
suggested, select the one which best expresses the same sentence in Passive/Active voice.

The metal beams were corroded by the saltwater.
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Options:

1) The saltwater corroded the metal beams.

)
2) The saltwater corroding the metal beams.
3) The saltwater was corrodes the metal beams.
4) The saltwater corrodes the metal beams.

Correct Answer: 1) The saltwater corroded the metal beams.

Candidate Answer: 2) The saltwater corroding the metal beams.

QID : 664 - Select the most appropriate word that fills in the blank correctly and completes the
sentence meaningfully.

Mom was at my sister yesterday to her homework.
Options:

1) screaming,finish

2) screamed ,finish

)
)
3) screamed |finishing
4) screamed ,finished

Correct Answer: 1) screaming,finish

Candidate Answer: 2) screamed ,finish

QID : 665 - Select the most appropriate word that fills in the blank correctly and completes the
sentence meaningfully.

Gunjun the A.C.s off in the auditorium this morning.
Options:

1) switching

2) switch

)
)
3) switched
4) switches

Correct Answer: 3) switched

Candidate Answer: 3) switched

QID : 666 - Select the word that is closest in meaning (SYNONYM) to the word given below.

APPREHENSIVE
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Options:

1) doubtful

)

2) arduous
3) upbeat
4) angst

Correct Answer: 1) doubtful

Candidate Answer: 2) arduous

QID : 667 - Select the word that is opposite in meaning (ANTONYM) to the word given below.

DISCREET

Options:

1) Imprudent

2) Delirious
)
)

3) Inclination
4) Anarchy

Correct Answer: 1) Imprudent

Candidate Answer: 4) Anarchy

QID : 668 - Select the word that is spelled correctly.
Options:

1
2
3
4

Notoreous
Notorus
Notereus
Notorious

—_— — ~— ~—

Correct Answer: 4) Notorious

Candidate Answer: 2) Notorus

QID : 669 - Select the most appropriate 'one word ' for the expressions given below.

Renouncing a belief or doctrine
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Options:

1) Ascetic

2) Abnegation
3) Atheist

4) Agnostic

Correct Answer: 2) Abnegation

Candidate Answer: 1) Ascetic

QID : 670 - Select the option that best expresses the meaning of the idiom or phrase given below.
Taste of your own medicine
Options:
1) to have some secret information about someone
2) something happens to you, that you have done to someone else
)
)

3) to do something badly or cheaply
4) to be active without achieving any worthwhile result

Correct Answer: 2) something happens to you, that you have done to someone else

Candidate Answer: 1) to have some secret information about someone

QID : 671 - Who was known as ‘the father of early childhood education’?
Options:
1) B.F. Skinner
2) Jean-Jacques Rousseau
)
)

3) Charles Lamb
4) Howard Gardener

Correct Answer: 2) Jean-Jacques Rousseau

Candidate Answer: 2) Jean-Jacques Rousseau

QID : 672 - The Progressive Education Association was founded in which year?
Options:

1) 1956
2) 1980
3) 1919
4) 1936
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Correct Answer: 3) 1919

Candidate Answer: 2) 1980

QID : 673 - The discrimination based on gender in workplaces is known as

Options:

1
2
3
4

Gender roles

Gender stereotyping
Gender socialization
Occupational sexism

—_— — ~— ~—

Correct Answer: 4) Occupational sexism

Candidate Answer: 2) Gender stereotyping

QID : 674 - How many factors influence the process of socialization?

Correct Answer: 2) 4

Candidate Answer: 2) 4

QID : 675 - Which one these is not an agent of socialization?
Options:

1) The school

)
2) The family
3) Mass media
4) Books

Correct Answer: 4) Books

Candidate Answer: 4) Books

QID : 676 - Who proposed the 8 stages of Socialization?
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Options:

1) Erik Erikson

)
2) Carl Rogers

3) Edward Thorndike
4) Kurt Lewin

Correct Answer: 1) Erik Erikson

Candidate Answer: 2) Carl Rogers

QID : 677 - The stage in which a person faces many changes in personal, biological and social
self is known as

Options:

1) Pre-school stage

2) Adolescence stage

3) Young adulthood stage
4) Later childhood stage

Correct Answer: 2) Adolescence stage

Candidate Answer: 2) Adolescence stage

QID : 678 - Maturity stage starts from which age in a person?
Options:

1) 35-65 years of age

2) 6-12 years of age

3) 65+ years of age

4) 18-35 years of age

Correct Answer: 3) 65+ years of age

Candidate Answer: 4) 18-35 years of age

QID : 679 - How many principles of Child Development are there?

Correct Answer: 4) 6
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Candidate Answer: 4) 6

QID : 680 - The Expectancy theory was developed by

Options:
1) Victor Vroom

2) Abraham Maslow
3) Wilhelm Wundt
4) Richard Lazarus

Correct Answer: 1) Victor Vroom

Candidate Answer: 1) Victor Vroom

QID : 681 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

Everybody thinks that tulips come from Holland. Actually, Tulips are native to Central Asia and
Turkey. In the 16th Century they were brought to Holland from Turkey, and quickly became widely
popular. Today Tulips are cultivated in Holland in great numbers and in huge fields.The botanical
name for tulips, Tulipa, is derived from the Turkish word "tulbend" or "turban", which the flower
resembles. It's considered as the King of Bulbs.Cultivation of the tulip began in Persia, probably in
the 10th century.Sultan Ahmet 11l maintained famous tulip gardens in the summer highland
pastures at Spil Dag! above the town of Manisa.Although it is unknown who first brought the tulip
to Northwestern Europe, the most widely accepted story is that it was Oghier Ghislain de
Busbecq, an ambassador for Emperor Ferdinand | to Suleyman the Magnificent. Tulips spread
rapidly across Europe and more opulent varieties such as double tulips were already known in
Europe by the early 17th century. Nouveaux riches seeking wealthy displays embraced the exotic
plant market, especially in the Low Countries where gardens had become fashionable. A craze for
bulbs soon grew in France, where in the early 17th century, entire properties were exchanged as
payment for a single tulip bulb. The value of the flower gave it a special ‘aura’ of mystique, and
numerous publications describing varieties in lavish garden manuals were published, cashing in
on the value of the flower. An export business was built up in France, supplying Dutch, Flemish,
German and English buyers. The trade drifted slowly from the French to the Dutch and is thought
to have sparked the infamous tulip mania in Holland. Between 1634 and 1637, the enthusiasm for
the new flowers in Holland triggered a speculative frenzy now known as the "Tulip Mania" that
eventually led to the collapse of the market three years later. Tulip bulbs had become so
expensive that they were treated as a form of currency, or rather, as futures, forcing the Dutch
government to introduce trading restrictions on the bulbs. Around this time, the ceramic tulipiere
was devised for the display of cut flowers stem by stem. Vases and bouquets, usually including
tulips, often appeared in Dutch still-life painting. To this day, tulips are associated with the
Netherlands, and the cultivated forms of the tulip are often called "Dutch tulips." The Netherlands
has the world's largest permanent display of tulips at the Keukenhof.

Where is the world's largest permanent display of tulips?
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Options:

1) Keukenhof

2) Turkey

3) Antalya

4) British Columbia

Correct Answer: 1) Keukenhof

Candidate Answer: 2) Turkey

QID : 682 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

Everybody thinks that tulips come from Holland. Actually, Tulips are native to Central Asia and
Turkey. In the 16th Century they were brought to Holland from Turkey, and quickly became widely
popular. Today Tulips are cultivated in Holland in great numbers and in huge fields.The botanical
name for tulips, Tulipa, is derived from the Turkish word "tulbend" or "turban", which the flower
resembles. It's considered as the King of Bulbs.Cultivation of the tulip began in Persia, probably in
the 10th century.Sultan Ahmet 11l maintained famous tulip gardens in the summer highland
pastures at Spil Dagi above the town of Manisa.Although it is unknown who first brought the tulip
to Northwestern Europe, the most widely accepted story is that it was Oghier Ghislain de
Busbecq, an ambassador for Emperor Ferdinand | to Suleyman the Magnificent. Tulips spread
rapidly across Europe and more opulent varieties such as double tulips were already known in
Europe by the early 17th century. Nouveaux riches seeking wealthy displays embraced the exotic
plant market, especially in the Low Countries where gardens had become fashionable. A craze for
bulbs soon grew in France, where in the early 17th century, entire properties were exchanged as
payment for a single tulip bulb. The value of the flower gave it a special ‘aura’ of mystique, and
numerous publications describing varieties in lavish garden manuals were published, cashing in
on the value of the flower. An export business was built up in France, supplying Dutch, Flemish,
German and English buyers. The trade drifted slowly from the French to the Dutch and is thought
to have sparked the infamous tulip mania in Holland. Between 1634 and 1637, the enthusiasm for
the new flowers in Holland triggered a speculative frenzy now known as the "Tulip Mania" that
eventually led to the collapse of the market three years later. Tulip bulbs had become so
expensive that they were treated as a form of currency, or rather, as futures, forcing the Dutch
government to introduce trading restrictions on the bulbs. Around this time, the ceramic tulipiere
was devised for the display of cut flowers stem by stem. Vases and bouquets, usually including
tulips, often appeared in Dutch still-life painting. To this day, tulips are associated with the
Netherlands, and the cultivated forms of the tulip are often called "Dutch tulips." The Netherlands
has the world's largest permanent display of tulips at the Keukenhof.

Which of these people brought the tulips to Europe?
Options:
1) Suleyman the Magnificent
2) Oghier Ghislain de Busbecq
)
)

3) Emperor Ferdinand |
4) Sultan Ahmet Il

Correct Answer: 2) Oghier Ghislain de Busbecq

Candidate Answer: 1) Suleyman the Magnificent
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QID : 683 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

Everybody thinks that tulips come from Holland. Actually, Tulips are native to Central Asia and
Turkey. In the 16th Century they were brought to Holland from Turkey, and quickly became widely
popular. Today Tulips are cultivated in Holland in great numbers and in huge fields.The botanical
name for tulips, Tulipa, is derived from the Turkish word "tulbend" or "turban", which the flower
resembles. It's considered as the King of Bulbs.Cultivation of the tulip began in Persia, probably in
the 10th century.Sultan Ahmet 11l maintained famous tulip gardens in the summer highland
pastures at Spil Dag! above the town of Manisa.Although it is unknown who first brought the tulip
to Northwestern Europe, the most widely accepted story is that it was Oghier Ghislain de
Busbecq, an ambassador for Emperor Ferdinand | to Suleyman the Magnificent. Tulips spread
rapidly across Europe and more opulent varieties such as double tulips were already known in
Europe by the early 17th century. Nouveaux riches seeking wealthy displays embraced the exotic
plant market, especially in the Low Countries where gardens had become fashionable. A craze for
bulbs soon grew in France, where in the early 17th century, entire properties were exchanged as
payment for a single tulip bulb. The value of the flower gave it a special ‘aura’ of mystique, and
numerous publications describing varieties in lavish garden manuals were published, cashing in
on the value of the flower. An export business was built up in France, supplying Dutch, Flemish,
German and English buyers. The trade drifted slowly from the French to the Dutch and is thought
to have sparked the infamous tulip mania in Holland. Between 1634 and 1637, the enthusiasm for
the new flowers in Holland triggered a speculative frenzy now known as the "Tulip Mania" that
eventually led to the collapse of the market three years later. Tulip bulbs had become so
expensive that they were treated as a form of currency, or rather, as futures, forcing the Dutch
government to introduce trading restrictions on the bulbs. Around this time, the ceramic tulipiere
was devised for the display of cut flowers stem by stem. Vases and bouquets, usually including
tulips, often appeared in Dutch still-life painting. To this day, tulips are associated with the
Netherlands, and the cultivated forms of the tulip are often called "Dutch tulips." The Netherlands
has the world's largest permanent display of tulips at the Keukenhof.

The name 'tulip’ is derived from which of these words?

Options:

1)

2) bulb
3) flower
4) royal

turban

Correct Answer: 1) turban

Candidate Answer: 3) flower
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QID : 684 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

Everybody thinks that tulips come from Holland. Actually, Tulips are native to Central Asia and
Turkey. In the 16th Century they were brought to Holland from Turkey, and quickly became widely
popular. Today Tulips are cultivated in Holland in great numbers and in huge fields.The botanical
name for tulips, Tulipa, is derived from the Turkish word "tulbend" or "turban", which the flower
resembles. It's considered as the King of Bulbs.Cultivation of the tulip began in Persia, probably in
the 10th century.Sultan Ahmet 11l maintained famous tulip gardens in the summer highland
pastures at Spil Dag! above the town of Manisa.Although it is unknown who first brought the tulip
to Northwestern Europe, the most widely accepted story is that it was Oghier Ghislain de
Busbecq, an ambassador for Emperor Ferdinand | to Suleyman the Magnificent. Tulips spread
rapidly across Europe and more opulent varieties such as double tulips were already known in
Europe by the early 17th century. Nouveaux riches seeking wealthy displays embraced the exotic
plant market, especially in the Low Countries where gardens had become fashionable. A craze for
bulbs soon grew in France, where in the early 17th century, entire properties were exchanged as
payment for a single tulip bulb. The value of the flower gave it a special ‘aura’ of mystique, and
numerous publications describing varieties in lavish garden manuals were published, cashing in
on the value of the flower. An export business was built up in France, supplying Dutch, Flemish,
German and English buyers. The trade drifted slowly from the French to the Dutch and is thought
to have sparked the infamous tulip mania in Holland. Between 1634 and 1637, the enthusiasm for
the new flowers in Holland triggered a speculative frenzy now known as the "Tulip Mania" that
eventually led to the collapse of the market three years later. Tulip bulbs had become so
expensive that they were treated as a form of currency, or rather, as futures, forcing the Dutch
government to introduce trading restrictions on the bulbs. Around this time, the ceramic tulipiere
was devised for the display of cut flowers stem by stem. Vases and bouquets, usually including
tulips, often appeared in Dutch still-life painting. To this day, tulips are associated with the
Netherlands, and the cultivated forms of the tulip are often called "Dutch tulips." The Netherlands
has the world's largest permanent display of tulips at the Keukenhof.

Which of these was not a happening that took place during the "Tulip Mania"?
Options:
1) Tulips were treated as a form of currency
2) Dutch government to introduce trading restrictions on the bulbs
)
)

3) ceramic tulipiere was devised for the display of cut flowers stem by stem
4) People planted gardens with hundreds of Tulips

Correct Answer: 4) People planted gardens with hundreds of Tulips

Candidate Answer: 1) Tulips were treated as a form of currency
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QID : 685 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

Everybody thinks that tulips come from Holland. Actually, Tulips are native to Central Asia and
Turkey. In the 16th Century they were brought to Holland from Turkey, and quickly became widely
popular. Today Tulips are cultivated in Holland in great numbers and in huge fields.The botanical
name for tulips, Tulipa, is derived from the Turkish word "tulbend" or "turban", which the flower
resembles. It's considered as the King of Bulbs.Cultivation of the tulip began in Persia, probably in
the 10th century.Sultan Ahmet 11l maintained famous tulip gardens in the summer highland
pastures at Spil Dagi above the town of Manisa.Although it is unknown who first brought the tulip
to Northwestern Europe, the most widely accepted story is that it was Oghier Ghislain de
Busbecq, an ambassador for Emperor Ferdinand | to Suleyman the Magnificent. Tulips spread
rapidly across Europe and more opulent varieties such as double tulips were already known in
Europe by the early 17th century. Nouveaux riches seeking wealthy displays embraced the exotic
plant market, especially in the Low Countries where gardens had become fashionable. A craze for
bulbs soon grew in France, where in the early 17th century, entire properties were exchanged as
payment for a single tulip bulb. The value of the flower gave it a special ‘aura’ of mystique, and
numerous publications describing varieties in lavish garden manuals were published, cashing in
on the value of the flower. An export business was built up in France, supplying Dutch, Flemish,
German and English buyers. The trade drifted slowly from the French to the Dutch and is thought
to have sparked the infamous tulip mania in Holland. Between 1634 and 1637, the enthusiasm for
the new flowers in Holland triggered a speculative frenzy now known as the "Tulip Mania" that
eventually led to the collapse of the market three years later. Tulip bulbs had become so
expensive that they were treated as a form of currency, or rather, as futures, forcing the Dutch
government to introduce trading restrictions on the bulbs. Around this time, the ceramic tulipiere
was devised for the display of cut flowers stem by stem. Vases and bouquets, usually including
tulips, often appeared in Dutch still-life painting. To this day, tulips are associated with the
Netherlands, and the cultivated forms of the tulip are often called "Dutch tulips." The Netherlands
has the world's largest permanent display of tulips at the Keukenhof.

Who among these maintained tulip gardens in the summer highland pastures at Spil Dagi?
Options:
1) Suleyman the Magnificent
2) Oghier Ghislain de Busbecq
)
)

3) Sultan Ahmet 11l
4) Emperor Ferdinand |

Correct Answer: 3) Sultan Ahmet llI

Candidate Answer: 1) Suleyman the Magnificent
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QID : 686 - Read the poem carefully and answer the questions that follow choosing the correct
alternatives.

Gathering Leaves
BY ROBERT FROST

Spades take up leaves
No better than spoons,
And bags full of leaves
Are light as balloons.

| make a great noise
Of rustling all day
Like rabbit and deer
Running away.

But the mountains | raise
Elude my embrace,
Flowing over my arms
And into my face.

I may load and unload
Again and again

Till I fill the whole shed,
And what have | then?
Next to nothing for weight,
And since they grew duller
From contact with earth,
Next to nothing for color.

Next to nothing for use,
But a crop is a crop,
And who's to say where

The harvest shall stop?

What is the poet filling up the leaves into?

Correct Answer: 4) A shed

Candidate Answer: 1) A sack
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QID : 687 - Read the poem carefully and answer the questions that follow choosing the correct
alternatives.

Gathering Leaves
BY ROBERT FROST

Spades take up leaves
No better than spoons,
And bags full of leaves
Are light as balloons.

| make a great noise
Of rustling all day
Like rabbit and deer
Running away.

But the mountains | raise
Elude my embrace,
Flowing over my arms
And into my face.

I may load and unload
Again and again

Till I fill the whole shed,
And what have | then?
Next to nothing for weight,
And since they grew duller
From contact with earth,
Next to nothing for color.

Next to nothing for use,
But a crop is a crop,
And who's to say where

The harvest shall stop?

The leaves make a rustling noise like which animal?

Correct Answer: 1) Rabbits

Candidate Answer: 1) Rabbits
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QID : 688 - Read the poem carefully and answer the questions that follow choosing the correct
alternatives.

Gathering Leaves
BY ROBERT FROST

Spades take up leaves
No better than spoons,
And bags full of leaves
Are light as balloons.

| make a great noise
Of rustling all day
Like rabbit and deer
Running away.

But the mountains | raise
Elude my embrace,
Flowing over my arms
And into my face.

I may load and unload
Again and again

Till I fill the whole shed,
And what have | then?
Next to nothing for weight,
And since they grew duller
From contact with earth,
Next to nothing for color.

Next to nothing for use,
But a crop is a crop,
And who's to say where
The harvest shall stop?
What does the poet compare bags full of leaves to?
Options:
1) A stone
2) A balloon
)
)

3) A feather
4) A scarf

Correct Answer: 2) A balloon

Candidate Answer: 2) A balloon
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QID : 689 - Read the poem carefully and answer the questions that follow choosing the correct
alternatives.

Gathering Leaves
BY ROBERT FROST

Spades take up leaves
No better than spoons,
And bags full of leaves
Are light as balloons.

| make a great noise
Of rustling all day
Like rabbit and deer
Running away.

But the mountains | raise
Elude my embrace,
Flowing over my arms
And into my face.

I may load and unload
Again and again

Till I fill the whole shed,
And what have | then?
Next to nothing for weight,
And since they grew duller
From contact with earth,
Next to nothing for color.

Next to nothing for use,

But a crop is a crop,

And who's to say where

The harvest shall stop?

Why did the leaves become duller?

Options:

1) because of contact with the river

2) because of contact with the tree
)
)

3) because of contact with the earth
4) because of contact with the rocks

Correct Answer: 3) because of contact with the earth

Candidate Answer: 3) because of contact with the earth
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QID : 690 - Read the poem carefully and answer the questions that follow choosing the correct
alternatives.

Gathering Leaves
BY ROBERT FROST

Spades take up leaves
No better than spoons,
And bags full of leaves
Are light as balloons.

| make a great noise
Of rustling all day
Like rabbit and deer
Running away.

But the mountains | raise
Elude my embrace,
Flowing over my arms
And into my face.

I may load and unload
Again and again

Till I fill the whole shed,
And what have | then?
Next to nothing for weight,
And since they grew duller
From contact with earth,
Next to nothing for color.

Next to nothing for use,

But a crop is a crop,

And who's to say where

The harvest shall stop?

Who eludes the embrace of the poet?
Options:

1) Rabbits
2) River
3) Mud
4) Mountains

Correct Answer: 4) Mountains

Candidate Answer: 4) Mountains

QID : 691 - is considered as the major problem in teaching mathematics.

Qe GQI 6QRIQ 6VFER @ QIR AAY| FAIRER F6QOR! @Al g4I
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Options:

1) Classroom operations

65603 QTG

2) Knowledge of teaching methods
96 986G |IQ

3) Use of mathematical tools
JISIER AQGIA QUQLIQ

4) No option is correct
6719 Sag O@ g6e

Correct Answer: 4) No option is correct
6a19d a8 O g6w

Candidate Answer: 2) Knowledge of teaching methods
96 986 |IQ

QID : 692 - Which method of mathematics is used to solve geometrical logical problems?
gIfioe 6d12a AAg ARG OISR 6296 J8G 9ReE §47?
Options:

1) Summative
A6AITR

2) Deductive
220l

3) Analysis
Qa4

4) Inductive
AR

Correct Answer: 2) Deductive
Geaa

Candidate Answer: 2) Deductive
2ol

QID : 693 - In Mathematics, ‘Representation’ does not refer to

Qdioea , "gaag" Q QN QIF |

Latest Sarkari Jobs, Govt Exam Results, m
202.191.140.165/otetmay19/ccgsaV /e Tele 15 1o1 = Re 8 ° ] updates on one click NzIONGM5YzA2ZjcwMj...  42/71



10/8/2019 Odisha Teacher Eligibility Test
Options:

1) expressing the given data through graphs

QIETQ €116 Y@@ 669l dald @l

2) expressing the number sequence through geometrical patterns
FI6R FRIRgea AIINER A YT gRIF @l

3) expressing an important geometrical result as a theorem
QU1 QIRER 10T gReId gIFee TRITR gaId @4l

4) expressing the relation between two variable as an equation
99 ARSI BAIREA G5 VIGNAR FIEAAAD RIS Al

Correct Answer: 3) expressing an important geometrical result as a theorem
QU1 GQIRER 10T gReId gIFeR TFRITR gRId Q4

Candidate Answer: 4) expressing the relation between two variable as an equation
9@ AR08 2AIR6R 98 AAILAR AIERAR IS QA

QID : 694 - Community Mathematics is interconnected with which of the following?
QAS e AIRYEYER Q 7RISR 1@ AT AYB?
Options:

1) Integration
QAR

2) Trigonometry
F6RNEG

3) Arithmetic

A&

4) No option is correct
6al9d Sag 0@ g6e

Correct Answer: 3) Arithmetic
A8

Candidate Answer: 4) No option is correct
6@16d Sag O g6w

QID : 695 - is essential to do away with the problems of teaching mathematics.

QéiG S6SIRQIa ANYIYPR 99 QS SRl
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Options:

1) Practicing all subjects with the same teaching method
QAR AIOQIF IRNGEQ AT FIA 2GRS QA

2) Appropriate nature of the teacher

JR09 AYe 990

3) To include group discussion in teaching

dI0LIFQ 6]6Q gd 2RISR ?J@@@ @Ql

4) No option is correct

6al9d Sag O@ g6e

Correct Answer: 2) Appropriate nature of the teacher
J99Q QUYD I96

Candidate Answer: 1) Practicing all subjects with the same teaching method
QAR QIORIF INGEQ AT FIA 2GRS QA

QID : 696 - Building a mathematical wall in the classroom helps students

658a36a qIEee gIoa SaReal dxIea QAL K6Ql
Options:

1) to share their views and problem with others and show their creative ability
2AQQ 4168 LIQ ALIANL NQ° ALYl WGl @6Q NQ° CIR YFadln @FVel 6HIER

2) to understand difficult concepts in mathematics

60 @GR IR QEER

3) to know their position in the class

ALEQ CIQ AYNR FNFEQ

4) to learn all the formulae of geometry

g aag 9g dgqiea

Correct Answer: 2) to understand difficult concepts in mathematics
I8 @GR IR QEER

Candidate Answer: 4) to learn all the formulae of geometry
g% aag 9g dgqlea

QID : 697 - Which of the following is not a problem related to teaching mathematics?

390 6296 G8ie U6EARIA ATG AHGE Q6L7?
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Options:

1) Physical and mental health of students

JR121Q I8 6 AIede QIg

2) Inadequate subject-related knowledge of the teacher
Jaee adig Q99 A0 RIS

3) Handling the active students in the class

RUQ6a AGS Jie1a AGIRA FGQ!

4) No option is correct

6a19d Sag A0 g6<

Correct Answer: 4) No option is correct
6al9d Sag A0 gew

Candidate Answer: 3) Handling the active students in the class
KUd6a AGS Jiea AGIRA FGQ!

QID : 698 - Ram was asked to express 7 metres in terms of centimetres. His answer was 70
centimetres. What type of error is it?

Qe 7 Asag 6A8T6R 60 gald @GaIg QKN | GI8 281 AR 70 6AFAGIAI G 699 URIR §&7?
Options:

1) Wrong algorithm
Qe YIRcaee

2) Basic fact error
6ede gIq g6

3) Incorrect operation
@F 2AEQIR

4) Regrouping error
geaqia ga° g6

Correct Answer: 2) Basic fact error
6ede Iq g6

Candidate Answer: 2) Basic fact error
69de qIQ g8

QID : 699 - The mathematics curriculum must develop a sense of

JEeq QIQRAs aaga Q 691 GIR @A 21
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Options:

1) motivation

69Qdll

2) self confidence
AT

3) understanding
6Q1I6S

4) All options are correct
Ara Gag A0

Correct Answer: 4) All options are correct
A0 Sag A0Q

Candidate Answer: 4) All options are correct
A0g Gag A0

QID : 700 - Which of the following is/are the forms of Gallery walk in mathematics?
I. Teacher observation
II. Small group problem solving

799 266 980 GIRIT BLIRR TA/GE ?
. S8 adeemd
Il 6815 g QNG AR

Options:

1) Only |

62Qw |

2)Only Il

cqa Il

3)Bothland Il

[ 9Q° Il Q@

4) No option is correct
67l9d Sag A0 g6<

Correct Answer: 3) Bothlandll
1 9Q° || QU

Candidate Answer: 3) Bothland Il
| 9Q° Il Q@

QID : 701 - What is the unit digit of (19)%6° x (23)*8 x (65)272

(19)%65 x (23)*8 x (65)?'Q Y@@ YT 62607
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Options:

2o
w oo

Correct Answer: 3) 5

Candidate Answer: 4) 3

QID : 702 - What is the valueof 1 +2+3+4 +5 ...... 147
1+2+3+4+5 ... 14 Q QI 6@667

Options:

1) 115

2) 107

3) 105

4) 117

Correct Answer: 3) 105

Candidate Answer: 3) 105

QID : 703 -

lfx =+3 — /4 andy= 3+ 3-8, then what is the

value of (x —y)?

AT X =3 -4 9e°y=43+3-8 99 6067 (x-y)a

fli e@mea”?

Options:
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Correct Answer: 3) 0

Candidate Answer: 2) V3

QID : 704 - Side of a cube is 3 cm. What is the lateral surface area (in cm?) of the cube?

6T A96RgR AIEE 3 6271 GRAIES AIFIE JIa 638TR (69F2) 69667

Options:

Correct Answer: 2) 36

Candidate Answer: 4) 54

QID : 705 - Half of the perimeter of a rectangle is 24 cm. If the breadth of the rectangle is one
third of its length, then what is the area (in cm?) of the rectangle?

QG 2NG6REAR 690 26D 24 6271 I NGNS I 6T65R IR FHILIE 99, 636Q AXFEAIR
2o (6951%) 62607

Options:

Correct Answer: 1) 108

Candidate Answer: 1) 108

QID : 706 - Radius of a hemisphere is 4.2 cm. What is the volume (in cm?) of this hemisphere?

9RG 6aIRIeda QA 4.2 62711 YR 6qIRIIA 2AGR (6951°%) 6a60?
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Options:

1) 103.488

2) 155.232

3) 68.992

4) 175.232
Correct Answer: 2) 155.232

Candidate Answer: 1) 103.488

QID : 707 - If a + b = 5 and ab = 6, then what is the value of a® + b3?
Q9@ a+b =539 ab =6 996069 a° + b3 Q QIR 6@63?

Options:

4) 215
Correct Answer: 3) 35

Candidate Answer: 1) 89

QID : 708 -

1 1
fx° + — = 34, then what is the value of x* + —=?
X X

2 1 1
Q3@ x° + o 34 @9, 606% X+ = 2 9I6 6a6a?
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Options:

1) V34

Correct Answer: 4) 6

Candidate Answer: 3) V27

QID : 709 - If x* — 8x3 + 7x? + 18x + 72 is divided by (x — 4), then what will be the quotient?
9@ x* — 8x3 + 7x2 + 18x + 72 @ (x — 4) QIAI QY @A §I 666Q QITRG A& 2Q?

Options:

1) x3 + 4x2 - 9x — 18

2)x3—-4x2-9x + 18

3)x®—4x%2+9x - 18

4)x3 - 4x%> —9x - 18

Correct Answer: 4) x3—4x?—9x—18

Candidate Answer: 3) x3—4x%+9x— 18

QID:710-Ifax b =a+b + ab, then what is the value of 7 x 3?
Sa@a><b=a+b+abg\’l€®66’7XBQQIQGQGG‘?

Options:

1) 21
2) 31
3)18
4) 27

Correct Answer: 2) 31

Candidate Answer: 4) 27
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QD:711 -
4a 1 :
If T then what is the value of
a—j?
a
- 4a

1 1
L = Q6T a — — fle emaea
a’+8a+16 4 2l a

Options:

Correct Answer: 1)

33
4

Candidate Answer: 3) 12

QID : 712 - In a group of 25 persons, when a person having weight 60 kg is replaced by a new
person, then the average weight of the group is increased by 1 kg. What is the weight (in kg) of
new person?

25 @80 99 @R6Q, 6969 60 6aF B 6xl6d g2l QEQ IRl 9TAITE 99, 6668 ARQ AAULR BIR 1 6aF
Qf Qal 941 g2l @B 6FQ (696 69) 60667

Options:

1) 95
2) 61
3) 86
4) 85

Correct Answer: 4) 85

Candidate Answer: 3) 86
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QID : 713 - A can do a work in 5 days and B can do the same work in 10 days. How many days
will both take to complete the same work together?

A 5 GQQ F1IEQ KGRI @QQI AI6Q ¥° B 10 GRQ FIEANGR K1l @QQI IR 98 Qaedl e QI6e I
QI 689 FRQI 6R6E Ge AT 6R6a7

Options:

13

2)8/3

3) 10/3

4)2

Correct Answer: 3) 10/3

Candidate Answer: 1) 3

QID : 714 - What is 20% of 20% of 2007?

200 @ 20% @ 20% 6€@63 ?

Options:
1)8
2)15
3)10
4)12

Correct Answer: 1) 8

Candidate Answer: 1) 8

QID : 715 - 18% of which number is equal to 12% of 757

620 A°YIQ 18%, 75 @ 12% TG AAIR?

Options:

Correct Answer: 1) 50
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Candidate Answer: 4) 320

QID : 716 - If the sides of a right angled triangle are x, (x + 1) and (x — 1), then what is the length
(in cm) of its hypotenuse?

QG 9@ ATERI FRFQ UG GRR X, (X + 1) N (x — 1) €Y, 696% AQANFR 6Gg (62F) 66672

Options:

—

EoN=
o ~N=

Correct Answer: 1) 5

Candidate Answer: 4) 6

Qb : 717 -
In the given figure, ABCD is a rhombus. AB = 6

cm and ZABC = 120°.What is the length (in cm)
of diagonal BED?

gdea §g56q, ABCD 6aml 19 qif)al AB = 6 64¢ 1e°
ZABC = 120°1 Gd@ BD @ €3¢ (69¢) 6m6a?

D B
A B
Options:
14
2)6
3)8
4)12
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Correct Answer: 2) 6

Candidate Answer: 3) 8

QiD : 718 -

In the given figure, ABCD is a cyclic quadrilateral
with centre O. If L.COD = 120° and ~BAC = 30°,
then what is the value (in degrees) of ~BAD?

gea 9956a, ABCD 6oml 9@ og@e QIFl 6R650
egi@le Ol LCOD = 120° 99° £BAC = 30°, «.BAD
@ CIE (G9160) emea?

Options:

Correct Answer: 2) 90

Candidate Answer: 1) 60
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QD : 719 -
In the given figure, O is the centre of the circle. If
ZA0B = 110°, then what is the value of ZAPB?

dea 0gea O 9aa 6@yl 9§ LAOB = 110° g9,
6069 ZAPB Q e 62697

Options:

Correct Answer: 4) 70

Candidate Answer: 4) 70
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QiD : 720 -
In the given figure, C+ and C: are the centres of

the circles. If #.BDC = 120°, then what is the
value (in degrees) of ZABP?

dea degea  Crae® Co coml 9agea gl 9@
ZBDC = 120°, 6269 ZABP @ ¢lIa (5916Q) 6a6a?

A

C.t &
/)

Options:

Correct Answer: 2) 60

Candidate Answer: 2) 60

QID : 721 - How technique of ‘Classroom questioning’ in teaching science can be used more
effectively?

ARIAQ CIOKIFA 63Q6R '6980T 4T’ ARRIA 6al14R AU 2IgR FIIAANIER AT FA AIRAIEQ?
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Options:

1) Ensuring active participation of students
Jg1el1a AG9 2°EgRs ARG Kag

2) Developing rote learning

7919 @3 YR IS 621R8

3) Developing discipline in the class

RAQ LR TS @l

4) No option is correct

6xled Gaa A0« 962

Correct Answer: 1) Ensuring active participation of students
J91e1a AG9 2°EgRs ARG Kag

Candidate Answer: 1) Ensuring active participation of students
dR1el1a AGA 2°EgRd ARG Kag

QID : 722 - How practical work in science helps students in the learning process of science?

ARIFQ QRLNAR AT FAVER IVI16GQ FRIEARA TYAQ YFAER ARIAIG REQ?
Options:

1) Improve the marks obtained by the students

dR1el1Q 919 99e9E 280 K9g

2) Help the students to develop the habit of maintaining written records
JRNIIQ A 609% AT AHIQ 2AYIA §F $RG ALIAS! @9

3) Keep proper check on punctuality and regularity of the students
2I36aQ FAFIgRT0l 1e° A0l Afa 2 699 AAg

4) Help the students to verify the theoretical concepts

Q@R UGG AITIR K960 JNIEIQ ATIAG! *F

Correct Answer: 4) Help the students to verify the theoretical concepts
Q@R UGG TR K60 JVIEIR ATIAG! A

Candidate Answer: 4) Help the students to verify the theoretical concepts
QIRR UIRIG PR K60 JNICIR ATIAG! A

QID : 723 - Project method in teaching of science is suited mostly to

FRFQ VONRQ YRFQ ARGE 69da@lal QAR RUYS|
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Options:

1) promote understanding of basic concepts in science
AR gladie JIdIgee 98a1g JoIa @ag

2) enhance numerical abilities of the students
AVNIAFQ YT 293! 98

3) strengthen reasoning skill of the students
AANIANPFR 9B @RI QR

4) No option is correct

6xl6d Gag Q0@ 962

Correct Answer: 1) promote understanding of basic concepts in science
ARI9Q gladie dIdIgee 98a1g 9oIa @ag

Candidate Answer: 3) strengthen reasoning skill of the students
AANTANPFR 9B @RI QR

QID : 724 - A teacher training intern wants to make a lesson plan on the theme ‘Shelter’. What
kind of teaching method will be helpful for the intern?

@66 S9e 99N AQIS ‘AN’ JAT 690 YIRG A0 IAReRl GIR KEQIg 62 | 91 ARSI Ja8 A8%
Q9 AR AR 297

Options:

1) Making innovative teaching aids on the topic ‘Shelter’

UG SR VAR ARGS FACRR ALNAG! 9D

2) With the help of a guide, making questions and answers for the students which help them for
their exams

JIRLA ALNIER, dgieiieen 94 6 2RQ GUIA @Al Ul FI69Q IAIYIR @g Pl ALIAC! @6

3) Writing only important points

PYAIS JRLIS 994G 6Rdg

4) All options are correct

Ara Sag A0

Correct Answer: 1) Making innovative teaching aids on the topic ‘Shelter’
G G VAR ARGS FACRR ALNAG! 9D

Candidate Answer: 4) All options are correct
A08 Gag A0

QID : 725 - What is the best method for a science teacher to teach the concept of ‘Physical and
Chemical change’ to class VI students?

Q¢ FRIPQ 90 AR VI 658a e ‘SIQIae 8 AAATR IREeR’ QIS FEHARIQ ACTIRF ARG @417
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Options:

1) By demonstrating different experiments so that students can observe and learn
6 AIR-RAIRI K6a QI6E SRILIAI AT6QTE A6 B FH6E AR

2) By writing some examples of physical and chemical change

SRR 8 QAALEH? ARIERR 62015 ARILAE 6RHP

3) By asking students to memorise the definitions of physical and chemical change
JR121Q SIAR I9° QAIAXFR AARERR LRI Y FAES QLR ARIFIER

4) No option is correct

6xl6d Gag A0« Q62

Correct Answer: 1) By demonstrating different experiments so that students can observe and
learn
Q6 0IR-RaIRI R6a QI6E dRILIAI AT6QTE A6 B FH6E AR

Candidate Answer: 2) By writing some examples of physical and chemical change
FIIAR 8 AANGR TAREFA 62015 AL 6RVP

QID : 726 - Which of the following is the key feature of Formative Assessment in science?
A7Q @86 GRIEQ FACATR ZYI6AACAERQ €7 66/, ?
Options:

1) It is conducted at the end of the year
G Qd 6896Q ARGIRS g9

2) It is diagnostic in nature

21 6208 g9t GleIsalade

3) It encourages rote learning

gl 99 @8 FYQIQ AR [IL G2

4) No option is correct

6x16d @aa A0 62

Correct Answer: 2) ltis diagnostic in nature
2 6208 g9Ga QI6eaIede

Candidate Answer: 3) It encourages rote learning
N2l 89 98 SRR AIR ele {2

QID : 727 - Summative Assessment in science should mainly focus on

SRIFQ AAYS AU IR Q @ 93 GaR @Al @S|
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Options:

1) testing of mainly the practical skills

Qe @,QQI@Q QIGIQ IV @G

2) testing important theoretical concepts

99294 G1ge dIRdI AR

3) assessing observational skills

Ad6QBd QTG RIAR

4) diagnosing the areas of difficulties of students
JR1gla 2A9RUIQ 6889F Fda @GS

Correct Answer: 4) diagnosing the areas of difficulties of students
Jaigha agRIa 68897 Gda @Al

Candidate Answer: 1) testing of mainly the practical skills
Qe ‘@QQI@@ QIGIQ IV @G

QID : 728 - While discussing a concept of science, a science teacher firstly explained general rule
and then the examples were illustrated. What method of teaching is used by science teacher?

TR IRG U4 63 IERIORIQ AFIL, 968 SRIQ JFR a6 ARIQE FAAT QI *REEM 1e° FIQAER
QAILQEYE F5C @Al 62N FRIFQ FFP RIQ ARG IVNQIF F9E?

Options:

1) Deductive method
GRRCR a8%

2) Inductive method

ARYAR 986

3) Cognitive method
RIFQ 9SG

4) Skill lesson

@Rl dIO

Correct Answer: 1) Deductive method
GRRoR a8%

Candidate Answer: 1) Deductive method
GRRoR a8%

QID : 729 - Lesson planning in science should be guided primarily by the consideration of

FRIFQ A0 ARRER| glAIFiQaIe FER0RI A4 FIRS KA RGB!
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Options:

1) meeting the needs of the child performing average in the class
KUY QLR AR *AQI ABFQ VIFQ! YA *Q

2) satisfying parents

QA3a deIFIeIR

3) the completion of whole syllabus

gel Aepeiaq aaIg

4) burdening the children with work

@6 Qlee aélGQQ QIS

Correct Answer: 1) meeting the needs of the child performing average in the class
KUY QLR AR KA ABNFQ VIERQ! YA *Q

Candidate Answer: 1) meeting the needs of the child performing average in the class
KUY QLR AR *AQI ABFQ VIFR! YA *Q

QID : 730 - How ‘newspaper reading’ in a science class will be helpful in teaching learning
process of science?

P98 YR GRIQ 6g66Q ‘AANNG VG FRIFQ AI0QIE UG IHRR! 69F6Q ARIAR 297
Options:

1) It enhances the child’s perception and make him aware about the outside world
gl IRl Q AURE IS I&° QILIAQ &g AHRER QILIq ACPPR @AP

2) It has no significance in science classroom

3RI69Q 658963 1A 6919 Q19D 69R

3) It doesn’t add any experience in child’s learning

G 98I9Q §¢QIq 6a19d 2Rl g8 K6a AT

4) No option is correct

6x16d @aa A0 962

Correct Answer: 1) It enhances the child’s perception and make him aware about the outside
world
92l Nl Q QART QIFE I9° ALAQ T AINER BILIY ACFOR FAG

Candidate Answer: 4) No option is correct
6xl6d Qag A0« gee

QID : 731 - Which of the following statements regarding adaption of animals to climatic conditions
is correct?

I. Many animals live on trees in tropical rainforest

Il. Some birds migrate to warmer regions when winter arrives

Il Polar bears have white furs to protect themselves from predators

RAIg 92 GIKIAINE ged KGQIa FN6Q G¢ @ 694 Qe A0R?

. JIFAQR1R 6QATEAR 6Q FIBGER 6 URR JIS QA *QE

1. @8 a9 §16QIR AR A7NY QB 2ERY ARIBAG g2AT

IIl. 6QIRIQ GRRYEFR FRINQ TG Ol F6aq A8l KGR IR AA! ERIF &I
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Options:

1) Both Il and I1I
1149 1l Q@@
2)1, 1l and Il

1, 118e Il

3) Both | and Il
1 9e° Il Qee

4) Only I

caam Il

Correct Answer: 2) |, Il and Il
[, 11ge° 11l

Candidate Answer: 2) [, Il and lll
[, 11g@°

QID : 732 - Which of the following element has valency 47?

FIRYC 699 AUIAIYFAR FRYJEQ. QUIRIA1 4 266 ?
Options:

1) Aluminium
QAR

2) Boron

6

3) Silicon

e[a=ley

4) Phosphorous
FLATAUL

Correct Answer: 3) Silicon
Aeee

Candidate Answer: 3) Silicon
e[al=ley

QID : 733 - Sound waves are

Slakelolng 2l
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Options:

1) mechanical and longitudinal waves
AIRR 99° AQETY oot

2) mechanical and transverse waves
QIRR 9e° gIgRId Gaet

3) electromagnetic and transverse waves
6@'2@9 691g@ 9a° IQaId cae

4) electromagnetic and longitudinal waves
65969 601g1A 1Q° 2Q6T¢] oast

Correct Answer: 1) mechanical and longitudinal waves
AIRR 99° AYETY oaet

Candidate Answer: 2) mechanical and transverse waves
ARR 99° JIQRId GREt

QID : 734 - Two bones are connected to each other by which connective tissue?
96 29 JeQq AEe 609 A°6ARR GAg Qo A°Y® 99 ?
Options:

1) Ligament
ARQeR1

2) Tendon
REA(6TCBIR)
3) Areolar
6EUMQ

4) Cartilage
oQEIg

Correct Answer: 1) Ligament
ARIeR1

Candidate Answer: 4) Cartilage
eQaIg

QID : 735 - The gravitational force between two objects is G. If the distance between the two
objects is doubled, then the gravitational force becomes

Q06 Qg MYIFF4 5@ 6208 G | 98 9AG AZA YR 9aQ T4 99 6969 A2 63 gul

Options:

Correct Answer: 4 _C/4
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Candidate Answer: 2) 2G

QID : 736 - According to modern Periodic law, “properties of elements are periodic function of
their

ARJAR AdIggia ARe 29A6Q, "RAAFYGAR 6399, 90w 6228 I Q adiagde @i
gﬂlll

Options:

1) atomic mass
TR QIR

2) atomic numbers
QLG G|

3) mass of electron
DR QY

4) mass of proton
69I569Q KRN

Correct Answer: 2) atomic numbers
dell] L°gl

Candidate Answer: 3) mass of electron
DG QI

QID : 737 - Which of the following lens is used by a person suffering from Hypermetropia?

RAIREACITANG 2GS B F60R QT 697G AR @QE?
Options:

1) Bifocal Lens
QRETIRIP 6wF

2) Convex Lens

QAR 699

3) Concave Lens
RAQR 67Q

4) No option is correct
6xl6d 9ag A0e gee

Correct Answer: 2) Convex Lens
QAR 699

Candidate Answer: 2) Convex Lens
QAP 679
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QID : 738 - Which of the following contraceptives can be used to prevent sexually transmitted
diseases (STDs)?

6918 QGRS (NATE) gFeaIca AR FE R8T IRFEARIS QIRIA @al AIREA?
Options:

1) Copper -T

@da —-T

2) Oral Contraceptive Pill
641G@ GRREARIR 9F

3) Loop

Q9

4) Condom

@@ee

Correct Answer: 4) Condom
@R

Candidate Answer: 4) Condom
@EL¢

QID : 739 - Due to the decreased level of which hormone osteoporosis mainly occurs in females?

LA EIQL(ZGGQIQQ 2/ F6AQ FINEE PUIFE FIZRIEQR 168 6@l AIN?
Options:

1) Testosterone
664601469

2) Estrogen

QY 6aR

3) Progesterone
Je@eqae

4) Adrenaline
ot

Correct Answer: 2) Estrogen
Sl

Candidate Answer: 3) Progesterone
Je@eqae

QID : 740 - A fan produces a feeling of coolness and comfort during hot weather because

NG gl Q¢ it Aele d1one! Qe 2lQ¢l aa@@* XANA XS] I
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Options:

1) thermal conductivity of air increases
Qlg G19 ARSI Q& AN

2) fan supplies cool air

G QAL AP IR

3) perspiration evaporates slowly

Qe A16Q J16Q QIR g4

4) perspiration evaporates quickly

Gl 96 WIEQ AUV ¥4

Correct Answer: 4) perspiration evaporates quickly
Gl 96 WIER AUV §9

Candidate Answer: 4) perspiration evaporates quickly
Gl 9O WIEQ AV ¥

QID : 741 - Medicine used for indigestion is

Q02eda AR 99e0 Aa |
Options:

1) Antibiotic
S1Q1¢-9E6U(2IRBTR)
2) Antacid

ORI

3) Analgesic

6RQRNIS@

4) Antiseptic

QR

Correct Answer: 2) Antacid
ORISR

Candidate Answer: 2) Antacid
2ellsl@

QID : 742 - Sodium chloride (NaCl) is a salt of

6QIZ¢ 6] (NaCl) QD ARG
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Options:

1) Strong acid and weak base
IR TG 99 QIR 662

2) Weak acid and weak base
Q9% gIde 9e° @R 699

3) Strong acid and strong base
B4IR1 YIde Ie° IR 69K
4) Weak acid and strong base
Q9% gIde 9a° SB9IR1 662

Correct Answer: 3) Strong acid and strong base
B9IR1 Y@ Ie° IR 699

Candidate Answer: 4) Weak acid and strong base
Q9% gIde 1a° S@9IR1 662

QID : 743 - When does menopause occur in females?

AZRIAIATA CIUIER 6FIERING 6969 Q69?7
Options:

1) When puberty Starts

QUAR ¢ 99

2) When ovaries shrink

646Q GQIea AT 99

3) When menstruation starts in women
AERIEQ F1IEA 6969 FIR FIQ 2IaR 99

4) When egg cells are not released by ovaries
696Q G7Q 6919 G710 QI 590 99 QI

Correct Answer: 4) When egg cells are not released by ovaries
6468 GFjQ 6919 BYI90 QIal 596 99 Q1

Candidate Answer: 3) When menstruation starts in women
AZRI6Q FIIER 6969 IR G 2R g9

QID : 744 - Which of the following is used in the manufacturing of Magnets?

ANIFERS GeUG *AQIER F¢) QIS gege §9?
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Options:

1) Zinc

<@gl

2) Copper
o4l

3) Iron

Qe

4) Aluminium
YIpacaa

Correct Answer: 3) Iron

el

Candidate Answer: 1) Zinc
<@gl

QID : 745 - Chemical name of White Vitriol is

LA RGTBAR AALFR FIF |
Options:

1) Copper Sulphate Pentahydrate
U] ARETS 69QILINELT

2) Zinc Sulphate Pentahydrate
o AR 6dQLINELS

3) Zinc Sulphate Heptahydrate
P ARETS 62UISIRIRCLT

4) Copper Sulphate Trihydrate
@A AdIMETE QL INELSC

Correct Answer: 3) Zinc Sulphate Heptahydrate
T ARCTS 62UTIATRECLS

Candidate Answer: 4) Copper Sulphate Trihydrate
IQ ARETC CIRLRACES

QID : 746 - Which of the following is a diatomic element?
I. Oxygen

II. Sulphur

I1l. Argon

IV. Chlorine

39 Q4G QAR aAIQIe?
| 25698

Il. ARTIQ

. 219e

IV. 6188
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10/8/2019 Odisha Teacher Eligibility Test
Options:

1)1 and IV
148° IV

2) Only I1I
6aaq Il

3) 1, land Il
1, 11a8e 11l
4)1,1land IV
1, 11 98° 1V

Correct Answer: 1) land IV
I 9@° IV

Candidate Answer: 2) Only llI
e@ae I

QID : 747 - Which organ of the human body releases Insulin hormone?

QR 699 @@ 2P @Q@ﬁ@ LRECIR G3AQS FEQ?
Options:

1) Liver

a9e

2) Small Intestine
9Ia

3) Thyroid Gland
2IAREL? 98

4) Pancreas
IO

Correct Answer: 4) Pancreas
29 1%

Candidate Answer: 4) Pancreas
29 81

QID : 748 - Because of , tail of a comet points away from the Sun.

Q RIQE, YFIERLTA M A OIQ GA6R AES!
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10/8/2019 Odisha Teacher Eligibility Test
Options:

1) gravitational force of earth
92e1a A2IRd1a 93

2) Solar heating

6dla QId

3) Sun’s magnetic pressure
g64da 691g@19 QIa

4) Sun'’s radiation pressure
geda Saad 9Ig

Correct Answer: 4) Sun’s radiation pressure
geda Saad 9Ig

Candidate Answer: 1) gravitational force of earth
92e1a ALIRd1a 93

QID : 749 - A boat rises up as it enters sea from a river because

Q% 6Qlal aa1 0IQ 469 JEQ6eda dicel dicel Qe QRC0ZR RS |
Options:

1) sea water is softer than river water

AQ1Q AIFQ 0IQ AFEQR A& YA

2) density of sea water is higher than river water
Q21 FERQA GIZ AR ARQ AR 6%

3) sea water is harder than river water

291a AIEQ 0IQ A A 9B

4) density of river water is higher than sea water
AQ1Q AIFQ ARE AR I OIQ 69¢

Correct Answer: 2) density of sea water is higher than river water
Q1A F6RA 9IF APELR AIGR ARG 6%

Candidate Answer: 3) sea water is harder than river water
AQ1Q AIdia 01Q A9 A& 99

QID : 750 - In which organism, does double fertilisation occurs?

69% F19Q, 99F AYTTRAREFAR ) FTB §97?
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Options:

1) Human Beings
A&S

2) Reptiles
Ax1ga

3) Angiosperms
eR6Id

4) Gymnosperms
saeiQId

Correct Answer: 3) Angiosperms
qa&eaId

Candidate Answer: 3) Angiosperms
NeR6aId
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